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Use your Scantron sheets for the True/False and multiple choice questions (Q’s 1-18).

True/False:
1. (2 pts.) T or F: Left nasal hemiretina fibers will go to the right hemisphere of the brain.

2. (2 pts.) T or F: Retrograde tracers make use of the protein dynein to allow a researcher to inject the tracer into a brain area (Brain Area A) to determine all the brain areas that project to Brain Area A.

3. (2 pts.)  T or F: The interstripe region discussed in lecture is a part of the “What is it?” system.

4. (2 pts.)  T or F: According to lecture, the resolution of MRI images generally surpasses the resolution of CAT scan images. 

5. (2 pts.)  T or F: Dr. Chiba conducts a study and finds that amygdala damaged patients perform worse than controls on emotional memory tasks, but perform as well as control subjects on visual object memory tasks. This finding is an example of a single dissociation.

6. (2 pts.)  T or F: Anomalous trichromatism is the result of damage to the p-blobs or V4.

Multiple choice: Circle the BEST answer for each of the following questions.

7. (2 pts.) Barn owls and presumably humans use both interaural time (the difference in time between when a sound reaches the two ears) and the difference in the sound’s intensity between both ears to determine a sound’s origin. According to your text, which of the following represents the proper TIME pathway?

a. inner ear  lateral shell  magnocellular nucleus  post. lat. lemniscal nucelus  external nucleus

b. inner ear  lateral shell  angular nucleus  anterior lateral lemniscal nucleus  external nucleus 

b. inner ear  angular nucleus  post. lateral lemniscal nucleus  lateral shell  external nucleus

c. inner ear  magnocellular nucleus  ant. lat. leminiscal nucleus  lateral shell  external nucleus

d. None of the above

8. (2 pts.) Which of the following researchers believed in the idea of the aggregate field (that the brain as a whole participated in behavior?

a. Franz Joseph Gall

b. Pierre Flourens

c. Karl Wernicke

d. David Ferrier

e. Gustav Fritsch

9. (2 pts.) Which of the following type of tumor originates in non-cerebral structures, such as the lung, and is carried to the brain via the bloodstream.

a. gliomas 

b. meningiomas

c. metastatic tumors

d. None of the above

10. (2 pts.) Which of the following researchers did not use electrophysiology to examine the functions of the primary motor cortex the primary motor cortex?

a. Gustav Fritsch

b. David Ferrier

c. J. G. Spurzheim

d. John Hughlings Jackson

e. Roberts Bartholow

11. (2 pts.) Fibers from the right nasal hemiretina will travel to which of the following layers of the LGN?

a. 1, 4 and 6

b. 2, 3 and 5

c. 1 and 2

d. 3, 4 , 5 and 6

e. none of the above

12. (2 pts.) Which of the following statements is FALSE?

a. MEG has better temporal resolution than PET

b. PET scans have recently replaced CAT scans as the preferred method of detecting tumors.

c. PET scans have better temporal resolution than CAT scans.

d. Single unit recordings have better temporal resolution than PET scans.

e. MEG has better spatial resolution than human EEG

13. (2 pts.) Dr. Olton is developing a study on how the brain changes while looking at happy and sad images. Dr. Olton is especially interested in using a task that presents the happy and sad images for 30 seconds at a time. Dr. Olton is on a tight budget and wants to find a method that will allow him to conduct this study as cheaply as possible. Of the following methods that Dr. Olton is looking at, which is the best recommendation? 

a. fMRI

b. PET

c. CAT

d. MRI

e. angiogram

14. (2 pts.) Which of the following brain structures is NOT a part of  the neural pathway that auditory information follows when traveling from the auditory nerve to the auditory cortex?

a. cochlear nuclei 

b. superior olivary nucleus

c. medial geniculate nucleus

d. superior colliculus

e. All of the above structures are a part of the pathway

15. (2 pts.) _______________________ are the ganglion cells that are primarily responsible for processing color and fine details.

a. Parvocellular cells 

b. Magnocellular cells

c. X-like cells

d. Y-like cells

e. None of the above

16. (2 pts.) Which of the following people was the first to say that neurons were discrete entities and first ti identify that neuronal transmission was unidirectional?

a. Roberts Bartholow

b. Korbinidian Brodmann

c. Santiago Ramon y Cajal

d. Camillo Golgi

e. Charles Sherrington

17. (2 pts.) Which of the following regions is highly involved in the processing of contrast (brightness information) AND motion information.

a. thick stripes

b. interstripes

c. thin stripes

d. p-blobs

e. both B and D

18. (2 pts.) Which of the following represents the proper sequence through which “What is It” information passes from the visual cortex to the frontal lobe?

a. V1  V2  V3  V5  parietal cortex  inferior convexity

b. V1  V2  V3  V4  inferotemporal cortex  inferior convexity

c. V1  V2  V4  inferior convexity  inferotemporal cortex

d. V1  V2  MT  inferior convexity  dorsolateral PFC

e. None of the above represent the proper pathway
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Note:Questions 19-22  refer to the diagram of the visual system to the left. 

19. (4 pts) There are two patients: Patient A has a tumor that disrupts BOTH points B and H. Patient B has a stroke that causes BILATERAL disruption at point “E”. Draw boxes below to diagram which visual fields will be affected by drawing an X in all the fields that the person will experience a loss of vision (e.g. if a person is completely blind in both eyes then there will be an X in all four squares). If there is no loss of vision in a particular field, you can just leave the space blank. 




   Patient A:




Patient B:

20. (2 pts.) The complete name for the visual deficit following a cut at Point B only is ___________________________________________ 

21. (2 pts.) What are the fibers at Point A called? _________________________ 

22. (2 pt.)  The complete name for the visual deficit following a cut at Point F only is ___________________________________________

23. (2 pts.) What is the cause of akinetopsia (be specific!) _______________________________

24. (4 pts) 90% of optic nerve fibers terminate in the ______________________, which is a part of the “relay station in the brain” called the ______________________.  The remaining optic nerve fibers primarily go to ______________________ and ______________________.

25. (2 pts) Neurons in the __________________________ exhibit specialized firing to certain objects. For instance, certain neurons in this region will respond to a hand, but not to a chair, while other neurons will respond to a face, but not a hammer.

Short Essay (6 pts.): Your textbook describes a study by Schneider (1969) in which hamsters were trained to do two different tasks.  BRIEFLY describe the two tasks and the results and discuss how the results of this study be applied to humans suffering from blindsight (your answer should also include a definition of this term)?

Short essay: (3 pts.) Describe how a MRI scan works.

Short essay: (5 pts.) Name and describe the two theories of color vision presented in class. Who proposed the two theories. Which of the two theories best explains the complementarity of afterimages? Using this theory, explain why the complementarity of afterimages occurs.

(5 pts.) In class we discussed on-off concentric center-surround cells, complex cells and simple cells. Where can these cell types be found? Discuss how they respond to stimuli, including the optimal stimuli that activate these three cell types.

Short Essay: (4 pts.) List the four steps (in order) given in lecture on how perfusions are performed. List the two reasons given in lecture for why perfusions are performed. 

